Subject: Eight Pi
Posted by tomlang on Sun, 06 Feb 2011 16:05:56 GMT

View Forum Message <> Reply to Message

| have the 8 pi plans (thanks Wayne). The crossover seems unusual to me so | wanted to verify it.
First off, there is 8 ohms in parallel with the woofer. In series with this combination is a parallel
circuit of a 5mH choke and 4 ohms, making the woofer across a voltage divider of a 4 ohm and 8
ohm resistance but with the 5 mH choke in parallel with the 4 ohms. Just wanted to make sure
this is correct as it seems alot of power would be sinked across that resistor network.
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